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QUESTION 1

In Windows 2012 deleting data from a volume, based on a Thin LUN, means that NO storage space will be reclaimed by
the HUAWEI OceanStor V3,. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

You are the storage administrator of a media company that stores a lot of media files such as videos. You are asked to
propose a proper storage architecture for a new storage system that stores all the video and graphic files of the
company. The requirement is that it could run on commodity hardware in a distributed manner for unstructured dat 

A. Choose which one of the following architecture would be the better option. 

B. Block Storage Architecture. 

C. Clustered NAS Storage Architecture. 

D. Distributed Storage Architecture. 

E. Distributed Object Storage Architecture. 

Correct Answer: D 

 

QUESTION 3

Statement 1: A Solid State Disk drive can withstand strong vibrations. Statement 2: A Solid State Disk drive has only a
few mechanical parts. 

A. Statement 1 and 2 are true 

B. Statement 1 is true; Statement 2 is false 

C. Statement 1 is false; Statement 2 is true 

D. Statement 1 and 2 are false 

Correct Answer: B 

 

QUESTION 4

Given this scenario. A company wants replication of data between two data centers that are 2000 km apart. Which
replication method is most recommended? 
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A. Asynchronous 

B. Synchronous 

C. Both Asynchronous and Synchronous will work. 

D. Synchronous but ONLY if the link is a high speed 8 Gb/s fiber optical connection. 

Correct Answer: A 

 

QUESTION 5

Which of the following statements is incorrect? 

A. A RAID group is like a physical volume that consists of multiple disks. 

B. One logical volume can be created on a physical volume. 

C. Multiple logical volumes can be created on a physical volume. 

D. A LUN can reside on multiple RAID groups.The 

Correct Answer: D 
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